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1 Question

Write a A-term M implementing the following specification:

M™n T ="Xxg...2n. TpTp_1-°"To

(Note: The notation "n™ above stands for the numeral n, while " N7 stands
for T#NT — inside LyX it’s hard to tell them apart, but will appear correctly
in the PDFs)

1.1 Answer

Write your answer here.

2 Question

Write a A-term M which, when given as input " N7, evaluates to "O™, where O
is obtained from N by replacing every syntactic occurrence of {2 with I.

To the purpose of this exercise, assume € = (Azg.xoxo)(Axo.zox0) and I =
AI().I().

For example, here are some expected outputs:

M "Az5. Q7 =g, "Azs.I0

M "Ax3. KQ" =5, "Az3. KI

M '7)\1:1.5L‘19()\5L‘7.{E1Q)j =pn r)\!E1.(E11()\!E7.JJ1I)—I

M r()\CL'Q.fL'QZEo)()\!E().CL‘Q!EO)j =pn 1

M r()\xl..TE1$1)(A$1.:E1$1)1 =Bn F(A$1.I1$1)()\$1.I1$1)—|

Hint: use Sd, etc. as approprate.
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2.1 Answer

Write your answer here.
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